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Intro

Today we will 7”va learn " 97 of 12t nooN
Some of the topics we will learn about include. 5109
The source for

oy 5110

500

A xnv person who immersed himself in a Mikvah does
not become v until wHw 177, after sundown, and if he
performs the N7y it is Pasul.

Why Torah sources are needed

3;11;2 6ziiscussion in why Torah sources are needed for all f or a” th ree
RPO
oy v NDU
0’7193 70NN
0YMDI T0INN)
nigiiokialolints

For the mxmv that require Korbanos, the x»v does not
become completely 770 to eat Kodshim until after his
Korbanos are sacrificed.

pig gninii>lyiv)igte] n’1193 1D1nn

M7 A

Since a M5 9011 requires a Korban, even though he
had wnHw 17 1530, his IR still retains its original
strength as it did before 1520, as we see that a 193 YOI
receives N> for eating O'w7p, and his contact with
Korbanos causes them to become 3w pwRr, first and
second level of irmv

The two approaches in the Machlokes regarding

TR 7179 DO

Whether a 0195 70171 can perform the 772y of the 179
NN,

1.
They disagree in whether .
27 DMOD TN regard mng

ANITR NID NDHMY

2.
OR they disagree in whether the 97 of 7792 9w OV 5120
applies to all o» *>120 even of 2t nrMW OR only to a Mav
' oy of ni> N and other lenient MMV,
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So, let's review ...

The Gemara proceeds with the source for

or Hav

509

If a xpw 70 performs the 72y while he is a oy 5120, he
immersed in a Mikvah, but it is before wnw 27vn,
sundown, and he did not become completely 170, the
7712y is Pasul.

"N1D 17 says the source is in the Pasuk that refers to the
[mihinie]

DPTORS P DWVITR

DPIoR DW 55 R

1 P73 KLY 73V IR DR

or 51209 PIv N

Since this Pasuk is not needed for an actual X j75 before
120, because this was already derived in the previous
Daf from the Pasuk 155 85117, we apply this 1557 8D to
a oy 512w, a RpL 170 after 75320 before wnHw 271

The Gemara proceeds with the following question:

1727 IR

RIDMT N7 5 S

D193 J0IMHI O 21201 R1L

Why does the Torah need to mention separate sources for
a0y ,av and 0191 7oINn to teach that they are nmay Sommn?
Since both are 81V, we can derive them from the source of
RV from 195 X1 17172
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o MMv
pile}s)

If anov 0> performs thenmay while he is a b» hav,
he immersed in a Mikvah, but it is before wpw 2w,
and he did not become completely v,
the nmav is Pasul.

Yo )
The source i in the Pasuk that refers 1o the:
DEVRIND P DR
DN T 19PN XD

15W P M Y e e
P I

Since this Pasuk is not needed for an actual jn>
Now before n»av, because this was already
derived from the Pasukib5m N5 01,
we apply this)b5m 85 to a b» 5,

a o > after ndaw before wow 27wn.

P4

L

DRI W
RIONI N7 " NY
071D 90INNI - O 912V - RHYV

Why does the Torah need to mention
separate sources for a b» 5v and D193 DIND
to teach that they are nT1ap b5nn?

Since both are Nnp, we can derive them
from the source of Npv fromibbm N5 NITM?
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The Gemara explains that the sources for all three are
needed, as follows:

1.

RV RIVMT AN NT

RPON PV

Had the Torah written only X0, one might have thought
that only a Xnv is 7T12Y 55mn, because kL has a XN that
he can cause others to become 8»v, but 70N DY M0
93 are not 71712 Yom because they cannot cause others
to become r»v.

2.

And

oy 51103

Y1 IR K2 D19 JOIND

1IN2 9100 PY

Had the Torah written only o %120, we could not have
derived omo> yoinn from it, because one might have
thought that a o» %120 is 7712 S5m> because he has a XN
that he can disqualify >0, but a ©3193 7011 is not S5rm
1M1, because he does not disqualify 7.

3,

And

[nkuij>mlniviigton]

P11 IR KD O 9120

WY 0NN PV

Had the Torah written only 0119 9013, we could not
have derived oy 5120

from it, because one might have thought that a oinn
D93 is 172 Y5 because he has a X that his 7770
requires an action of mM137p, but a oy 51w is not 7MY Somm
because a oY %120’s 7770 does not require an action, it
merely requires w»w 177, sundown, which occurs on its
own.

DafHachaim.org

\ 4
The sources /ar il three are needed:

@

NPV RIHNT 2N *RT
RNLN PV

Had the Torah written only N,
one might have thought that only a o is "T12v b5n,
because nov has a MPIN
that he can cause others to become Npv,

&

01 J,12va
MN NR XY DI NDD 90NN
nMIN2 70D PY

Had the Torah written only p» hap,
we could not have derived Do DNy from it,
because one might have thought
that a pb» 51w is N S5n» because he has a ML
that he can disqualify nonn,

©,

0>71Dd 0INN2
N2 YNR RY 01 MV
NWYN 0NN PY

Had the Torah written only D193 DN,
we could not have derived p» v from it,
because one might have thought
that a p»o2 DY is N2 Sdnn because he has a NV
that his mnp requires an action of M2,
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And two of these sources would not be sufficient to create
a mwn 73 to derive the third one from the two, as follows:
We cannot derive 01193 70101 from o 91201 R0 together,
because

pinphats

1IN2 D00 1Pw

And we cannot derive oy %120 from 193 701N RPO
together, because

aiaphs)

YD OO 1PV

And Rashi explains that the Gemara does not even ask
why we cannot derive Xnv from o953 301 O 5120
together?

Because, 0 9120 can only be derived after we already
have a Pasuk for xnv, as it is derived through

RIDVY IV PR DX

oy 91205 Py min

®

However, the Gemara asks why we can’t derive oy 5120
from o195 701MH despite it being nwyn 701, because
IIRMIO Y RWSP NO NO

Since a 93 701w already had wpw 273vm 752V, his
IRP is considerably weaker than that of a or %120 who
did not have wnw 177, and nevertheless a 0193 oI is
AT2Y Somn;

Then a by 5120 whose IRm is stronger certainly is 55mmn
T2Y?

The Gemara explains that 727 holds

207 N9 IO

MT A

Since a Mo YoM requires a Korban, his nxmv still
retains its original strength as it did before n>av;

As we see that a 0197 90 receives N for eating WP,
and his contact with Korbanos causes them to become

1) PR, first and second level of iz, Therefore, since
a D19 JOImY's IRDV is stronger than a oy %120, we cannot
derive from o193 7011 that a or 9120 is also 7712Y So5mn

DafHachaim.org

And two of these sources
would not be sufficient to create a mwn T2
to derive the third one from the two,
as follows:

And we cannot We cannot derive
derive p» ;1 from D119 IDIND from

071D JONN - RNV O 912V - RNV
because because
2nd n 0D n
DIDIND DY D51DD oW
YYD npNN

And Rashis explainy
The Gemara does nat even ask why we: cannat
derive b fmm/ o ol and pryes omp fo;@z%er?
Because, o Jiof can only be devived
a%fer we “’&’@M/ﬁ’ have & Pasuk /Zr A

ay it iy devived thro

HHPWYD 1Y W OH

DY 5315 1Y DM

s
The Gemara asky

Why we can’t derive by 52p from o2 DD
despite it being nwyn DIND,

because
JIRMV N RWHP N0 NO

Since a D192 DNy already had wow 2wm p»av,
his nnow is considerably weaker than that of a p» 5av
who did not have wpw 170,
and nevertheless a D9 NP is ATV S5np;

Then a p» 51av whose DR is stronger
certainly is n'Tav b5nn?

D i
The Gemaras explainy that 5 holdy

217 DYMDD 0NN
MT 2T

As we see that a D93 DINY receives M2 for eating DwTy,

and his contact with Korbanos causes them to become 1w pwr»,

first and second level of nNp.

Therefore, since a DD DIND’S NRVIL
is stronger than a b» 12, we cannot derive from
D19 DI that a by 5w is also nav 5npn
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The Gemara now attempts to say that

27 N9 0NN

M7

Is actually a Machlokes in the following Braisa regarding
TR 170 NOW:

The 178 799 was burned and its ashes were collected
and mixed with spring water to create nxon .

A RV person may not perform the 772y of the R 779
as the Pasuk specifies

MV W JON]

However, the 13127 hold

07193 JOINM IR DTV

Rl

If an 198 or a 193 7oIM» burned the MR 19, it is
Kosher.

While 52377 qov holds

77w IR

79100 M9 TOINN

If it was an j9x, the 778 799 is Kosher, but if it was a
D193 7oI», the MR 119 is Pasul.

The Gemara initially assumes that the Machlokes is as
follows:

The 127 hold

D9 0NN 197W

77wd

Because they hold

217 0193 0NN

MT A RS

Therefore, he is not considered a Xnv person.

While *532377 qov holds

79100 D193 TOID

Because he holds

217 OO IO

MT A

Therefore, he is considered a X»v person.

However, the Gemara explains that this is not necessarily
so. Perhaps they both agree

237 0NOD 0NN

MT D

And the Machlokes is in the interpretation of the follow-
ing Drashah:

7192 w3 oy Mav

A oy 5120 may perform the 7m2p of the TR 779 because
the Pasuk states

RPON Y IOA I

The superfluous word 17w implies

YOWRINT 93 MO

Any mnv can perform the 7712 and a oy %120 is consid-
ered a 17V as the Pasuk states

IOIDNAYNN

Dedicated By:
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The Gemara now atfempts to say that

217 DYMDD 0NN
MT 21D

Is a Machlokes in the following Braisa regarding

NPITN NS NOY

The nmTN M»d was burned and its ashes were collected
and mixed with spring water to create DRODN .

=i N qoN?

While /s>Eor holdy The yr hold
NI N R DDV
DMdD 0NN DY7MDD 0INNM
n,.10D NwO

Because he holds

a1T DD IDIND
T 21D

Therefore, he is considered
a RpD person.

2TT DNDI IDINY
MT 2TD IND

Therefore, he is not considered
a RDD person.

N

However, this i not WLZ?/M.

Perhaps they both agree

2TT 0¥ NMDD 01NN
MT 2ATD

And the Machlokes is in the interpretation
of the following Drashah:

NID2 WO O 12V

because the Pasuk states
Nt h b S
Wl 153 b5 w8

Any 1w can perform the nTap
and a by 51 is considered a M

ab the Pasuk states
=5 s P
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The 1327 hold

1210 NN 5T IR

The Pasuk includes all or '5120 even 2t nRPIVT OV H30.
And even though he is a 7795 7on» that is considered

R»Y, nevertheless he may perform the 772y of the n1o
TN,

While 52371 qov holds

WIS JIT IRDIV

The Pasuk includes only a i nrmwT 0 120, which is
purified through the 78 779,

Therefore, all o 5120 that are more lenient than np nRM
such as n>an y7w are derived through a vm 5p from nn
and they may also perform the nmay.

However, 217 1193 70nm1 DY 5120 which is more stringent
than n» NNV because it's a 191 K317 IRV, the IRPIV
comes from the person, cannot be derived from n» nxmY,
and therefore he may not perform the 7m2ay.

The sources of 0732 701n» are reviewed in the next Daf.

DafHachaim.org

While /55y holdy
NRMIO
WD 0T

770@/97 hotd

IR
N9 NMNN YOT

The Pasuk includes only ~ The Pasuk includes all by »»12p
ann PRPILT DY 52w,
which is purified through
the noYTR Mo.
Therefore, all by '»12v that are

even a1 DNPILT DY H1ab.
And even though
heis a M3 DD
that is considered Nov,
more lenient than nn nNLIL
such as > yw are derived
through a~»mm 5p from pn
and they may also perform
the nmov.
However, 211 D93 ID1ND) D1 512w which is more stringent
than nn nRP because it’s a 19130 RPN DRI,
the nNmp comes from the person, cannot be derived from
nn PRV, and therefore he may not perform the nTap.
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